
 

 

 

https://testzone.smartkeeda.com/Test/Pricing


 

 

Coding Decoding Questions for CGL Tier 1, NIFT & SSC 

10+2 

Coding Decoding Quiz 9 

Direction : Study the following question carefully and choose the right answer. 

1. If in a certain language, TRIANGLE is coded SQHZMFKD, then which 

word would be coded as DWZLOKD? 

A. EXAMPLE      B. DISMISS      C. FIGMENT      D. DISJOIN 

2. In a certain code, ‘TEACHER’ is written as VGCEJGT. How is 

CHILDREN written in that code? 

A. EJKNEGTP      B. EGKNFITP      C. EJKNFGTO      D. EJKNFTGP 

3. If in a certain language, NEOMAN is coded as OGRQFT, which word 

will be coded as ZKCLUP? 

A. YIZHPJ      B. XIAJSN      C. YJBKTO      D. YIAQKJ 

4. If ‘COUNSEL’ is to ‘BITIRAK’ so also ‘GUIDANCE’ is to 

A. FOHYZJBB      B. HOHYBJBA      C. FPHZZKAB      D. FORHYZJBB 

5. If EARTH can be coded as ‘IUSBF’ how can GLOBE be coded? 

A. HMPCF      B. FMPCH      C. FPMCH      D. FCPMH  

6. If BOMBAY is coded as FSQFEC, which word could be coded as 

QCWSVI? 

A. MANDYA      B. MANDAL      C. MYSORE      D. MYSOER  

 



 

 

7. In a code TIGER is written as SHFDQ, how shall HORSE be written in 

that code? 

A. GNRQD      B. GNQRD      C. GRNQD      D. GMQRD  

8. In a particular way the word STAG is coded as HGZT, HORN as SLIM. 

Using the same coding, how can NORTH be written? 

A. NLGMI      B. MLIGS      C. MGLIS      D. NLGIS 

9. If in a code language ‘PUTREFY’ is written as ‘XPQSTRL’ and 

‘NAVIGATE’ is written as ‘GYMOWYQT’ how is ‘AVIARY’ written in 

that language? 

A. YOMYLS      B. YMOYLS      C. YMOYSL      D. YOMYSL 

10. In a certain code RAIN is written as TCKP. How is CLOUD written in 

that code? 

A. ENQWF      B. EMQWF      C. FNQWE      D. ENRWF  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A D A A D C B B C A 

 

Explanations: 

1. 

T R I A N G L E 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
–1 –1 –1 –1 –1 –1 –1 –1 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
S Q H Z M F K D 

 
Similarly; 
  
D W Z L O K D 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+1 +1 +1 +1 +1 +1 +1 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
E X A M P L E 

 

 

2. 

T E A C H E R 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+2 +2 +2 +2 +2 +2 +2 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
V G C E J G T 
 
Similarly; 
C H I L D R E N 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+2 +2 +2 +2 +2 +2 +2 +2 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
E J K N F T G P 



 

 

3. 

N E O M A N 
↓ ↓ ↓ ↓ ↓ ↓ 
+1 +2 +3 +4 +5 +6 
↓ ↓ ↓ ↓ ↓ ↓ 
O G R Q F T 
 
Similarly; 
  
Y I Z H P J 
↓ ↓ ↓ ↓ ↓ ↓ 
+1 +2 +3 +4 +5 +6 
↓ ↓ ↓ ↓ ↓ ↓ 
Z K C L U P 

 

 

4. 

C O U N S E L 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
–1 –6 –1 –5 –1 –4 –1 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
B I T I R A K 

 
Similarly; 
  
G U I D A N C E 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
–1 –6 –1 –5 –1 –4 –1 –3 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
F O H Y Z J B B 

 

 

 

 

 

 



 

 

5. 

E A R T H 
Reverse order 
H T R A E 
↓ ↓ ↓ ↓ ↓ 
+1 +1 +1 +1 +1 
↓ ↓ ↓ ↓ ↓ 
I U S B F 

 
Similarly; 
  
G L O B E 

Reverse order 
E B O L G 
↓ ↓ ↓ ↓ ↓ 
+1 +1 +1 +1 +1 
↓ ↓ ↓ ↓ ↓ 
F C P M H 

 

 

6. 

B O M B A Y 
↓ ↓ ↓ ↓ ↓ ↓ 
+4 +4 +4 +4 +4 +4 
↓ ↓ ↓ ↓ ↓ ↓ 
F S Q F E C 

 
Similarly; 
  
O C W S V I 
↓ ↓ ↓ ↓ ↓ ↓ 
–4 –4 –4 –4 –4 –4 
↓ ↓ ↓ ↓ ↓ ↓ 
M Y S O R E 
 

 

 



 

 

7. 

T I G E R 
↓ ↓ ↓ ↓ ↓ 
–1 –1 –1 –1 –1 
↓ ↓ ↓ ↓ ↓ 
S H F D Q 

 
Similarly; 
  
H O R S E 
↓ ↓ ↓ ↓ ↓ 
–1 –1 –1 –1 –1 
↓ ↓ ↓ ↓ ↓ 
G N Q R D 
 

 

8. 

In this question the coding given is opposite letters of alphabets which is given 
below. 
 
A B C D E F G H I J K L M 
Z Y X W V U T S R Q P O N 
 
So, 
  
S T A G   or   H O R N 
H G Z T       S L I M 
 
Similarly; 
  
N O R T H 
M L I G S 
 

 

 

 



 

 

9. 

P U T R E F Y 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
X P Q S T R L 
 
 And 
  
N A V I G A T E 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
G Y M O W Y Q T 
 
Therefore, 
  
A V I A R Y 
↓ ↓ ↓ ↓ ↓ ↓ 
Y M O Y S L 
 

 

10. 

R A I N 
↓ ↓ ↓ ↓ 
+2 +2 +2 +2 
↓ ↓ ↓ ↓ 
T C K P 

 
Therefore, 
  
C L O U D 
↓ ↓ ↓ ↓ ↓ 
+2 +2 +2 +2 +2 
↓ ↓ ↓ ↓ ↓ 
E N Q W F 
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